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10 pts) 1.
Which phrase best describes the main function of kidneys?

transporting nutrients to cells
digesting carbohydrates and fats
filtering wastes from the blood
fighting disease-causing organisms

(10 pts) 2.
If a tendon gets torn and cannot function properly, which two body systems will be directly affected?

circulatory system and nervous system
muscular system and skeletal system
endocrine system and reproductive system
excretory system and respiratory system

(10 pts) 3.
The trunk of a tree provides support for the tree. Which structure in the human body is similar in function to a tree trunk?

the spinal column and skeleton
the sensory organs
blood vessels
the lungs

(10 pts) 4.
If this organ malfunctions, all other body systems will be starved of oxygen. Identify the organ from the list below.

heart
skin
small intestine
kidneys

(10 pts) 5.
For insects that undergo incomplete metamorphosis, which statement is correct?

There are four distinct stages that show dramatic change.
The young insect resembles the adult insect.
When the egg hatches, it immediately becomes an adult insect.
The process differs for every insect.

(10 pts) 6.
After a plant sperm cell fertilizes an egg cell, what is produced?

sweet nectar
a seed
plant nutrients
a spore

(10 pts) 7.
What do we call the gametes that are needed for reproduction in vertebrate animals?

antibodies and pathogens
seeds and spores
sperm and eggs
buds and offspring

(10 pts) 8.
Which activity distinguishes the larva stage from the pupa stage of an insect?

feeding
locating shelter
reproducing
making its own food

(10 pts) 9.
Which insect has a life cycle that represents complete metamorphosis?

grasshopper
termite
ant
butterfly

(10 pts) 10.
In plants, tubes transport nutrients throughout the plant. In humans, which parts carry out that function?

nerves
small intestines
alveoli
blood vessels

(10 pts) 11.
In which part of a plant does the exchange of gases (enter and exit) take place?

in the roots
in the leaf
within flowers
inside the seed

(10 pts) 12.
Which one is an advantage of sexual reproduction?

more offspring produced at a faster rate
offspring that are identical to parents
genetic variation
rapid growth of gametes

(10 pts) 13.
A single-celled protist divides into two cells, and each one becomes another protist. What is the term for this process?

asexual reproduction
complete metamorphosis
incomplete metamorphosis
sexual reproduction

(10 pts) 14.
What happens when the immune system does not differentiate between pathogens and body cells?

The immune system will target the body’s own cells.
The excretory system will remove the pathogens.
The digestive system will absorb the pathogens.
The organism will develop allergies.

(10 pts) 15.
Look at the chart and identify the correct phrase from the list to put into the blank section.

maintains proper balance
protects from pathogens
forms new lipids
moves the cell forward (flagellum)

10 pts) 16.
How do sex cells differ from other cells in a body?

They are always moving.
They have half the number of chromosomes.
They do not need energy to perform their functions.
They are usually much larger

17. In a plant, roots absorb water and nutrients. Those materials are then transported to other parts of the plant. What system in the human body functions in a similar way? Compare these two systems.

The system that takes care of transport in the body is the cardiovascular system, also known as the circulatory system. In humans, the movement is accomplished by a beating heart and the structures that the materials flow through are arteries, capillaries, and veins. In plants, there is not a beating heart. Though the plant doesn't have capillaries it does use a phenomenon called capillary action to transport materials against gravity up the stalk or trunk.

18. How does the immune system work together with the circulatory system to function properly?

The immune system must be on guard against pathogens in all parts of the body. The circulatory system can provide a means for the various white blood cells to be mobile. 

19. What do you think would happen to the muscular system if the digestive system broke down? Explain your reasoning.

The muscular system requires lots of energy to produce movement. Without the fuel that is provided from the foods digested in the digestive track, the muscles would be like a car without gasoline. The muscles also require regular supplies of building and repair materials to maintain structure and function. Without the digestive system, these materials too would not be available.

20.  Identify the final stage in the life cycle of an insect that undergoes complete metamorphosis. Give two characteristics of this stage of life. 

egg → larva → pupa →adult

The adult phase is the only phase in which the organism can sexually reproduce. Much of the organisms energy is devoted to finding a suitable mate. Some organisms will tend to young during this phase of life, but for most insects the adults will leave the eggs unattended.
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